I do hope I managed to meet the deadline, but probably blew it due to procrastination.  My solution to the Puzzler’s Elusion is as follows:

My agents must go 13 miles south and two miles west of the entrance to the public library in Hood River. Look around.  Find the largest pine and dig there.  The number of feet you dig three feet but not be surprised it he hit something at two.  If that doesn't work, try 8 miles east of the Ranger Station on the old highway east of Hood River and go up twenty feet.  Look for the juniper.

The letter:

Dear Fellow Citizens,

It is my hope that Dr. Ecco will decrypt this letter first.  The ballots I have in my possession were wrapped up in a package in a Dumpster not far from Key Tower in Cleveland.  Why, I do not know.  Ever since getting them, I have been pursued by people wishing to do me harm.

In order to let the ballots see the light of day, I tell you they (are) in one of two places.  They are exactly a certain number of miles south and two miles west of the entrance to the public library in Hood River.  That certain number is the answer to the challenge problem on the Warriors of Rapture puzzle in Professor Scarlet’s narrative.  Look around.  Find the largest pine and dig there.  The number of feet you dig is the answer to the challenge of the What Color is My Hat puzzle.  If that doesn't work, try a certain number of miles east of the Ranger Station on the old highway east of Hood River and go up twenty feet.  That certain number is the answer to the challenge problem of Lying Socks.  Look for the juniper.

Rose Edwards

Warriors of the Rapture

Start with one step, if you are not corrected take another step.  If you are still not corrected, there are 13 possibilities for the remaining six steps.  Any other pattern will end up with fewer possibilities.

What Color Is My Hat?

Depending on your definition of “nonredundant hints,” my agent will have to dig down either two or three feet.  I would tell him to dig three feet but not be surprised it he hit something at two feet.  I’m sure if I actually knew Dr. Ecco personally, I’d know which his interpretation would be.

By describing two items that one gentleman is wearing, the third item it automatically determined.  For instance we can say that Mr. Green is wearing red pants and a green shirt.  We then know that he is wearing a blue hat, but we cannot determine whether Mr. Red or Mr. Blue is wearing blue pants, a red shirt and a green hat, or green pants, a blue shirt and a red hat (the other two options).  We could also specify that Mr. Green is wearing a green hat and Mr. Blue is wearing a blue hat.  Is it then redundant to specify that Mr. Red is wearing a red hat?  Hence my answer.

Lying Socks

I. First ask ABC about type (Are they socks?)

A. If they agree yes (0 caught), you have black socks.  Ask DEF about size. 

1. If they agree (0 caught), you are done after 6 questions.

2. If they disagree, ask A about size.

a) 3 – 1 (1 caught): done.

b) 2 – 2: ask B about size (both caught).  Done after 8 questions.

B. If they agree no (0 caught), you have large shoes. Ask DEF about color.
1. If they agree (0 caught), you are done after 6 questions.

2. If they disagree, ask A about color.

a) 3 – 1 (1 caught): done.

b) 2 – 2: ask B about color (both caught).  Done after 8 questions.

C. If they disagree, ask D about type.
1. 3 – 1 (1 caught): Know whether they are black socks or large shoes.

a) Ask three who agreed about the third attribute.

(1) If they agree, you’re are done after 7 questions.

(2) If they disagree, the one who disagrees is the liar and you are done after 7 questions.

2. 2 – 2: ask E about type (both caught). Know whether they are black socks or large shoes.  Ask three truth-tellers about the third attribute and you are done after 8 questions.

